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1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
o
w

=
o
N

=
o

=

1071

1072

[EEY

0.5

7000 GeV pp W+Jet
— — )
E I I I | I I I | I I I | I Eg
- Trimmed jet mass (anti-k_(0.7), 125<p_<150, |y|<2.5) 13
- 13
™
= —=o
— —
— O
B Y ST . ] CB
] (O]
- ] —.2
' =
— u _
n S ]
B mie)
| ™
@
— — m
= * 39
B I Ese)
— |
B mE=
_ X
S,
= ®m CMS =
= ¢ Sherpa 2.2.9 default s
- ¢ 8
B ~H°
- mie
o
I _lo
El | | | | | | | | | | | | | IE E
| ! ! ! =
— =2
- . =
0 1
L Ty :
n o ’
- — 0.5
l l l ‘ I
0 20 40 60

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


